NEET PRYSICS

The nuclear force becomes weak

it the nucleus contains a large number
of nucleons
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All those elements which are heavier than
lead are radioactive. This is because in the
nuclei of heavy atows, besides the nuclear
attractive forces, repulsive forces between
the protons are also effective and these
forces reduce the stability of the nucleus.
Hence, the nuclei of heavier elements are being
converted into lighter and lighter elements by
emission of radioactive radiation. When they
are converted into lead, the emission is
stopped because the nueleus of lead is stable
(or lead is most stable elements in radioactive
series). However there are series changing to
stable bismuth
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